
c. Define the following :

i) Average value of alteffiAffiS current

2 a. Two resistance
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iii) Peak facfor.'

(08 Marks)

(06 Marks)

series with
in each resis

vii) Voltage acro'Ss capacitor. (08 Marks)

c. An inductiye'''doil takes a current of 33.24a from 230V,sAHz supply, ifthe resistance of coil
is 6a..Odl ilate inductance of the coil and power taken by the coil.

@l$and 40C) are con6c&{"1{h parallel. A
ribination. A voltagddf2bOVlr applied
and voltage acrosffi). Find also th&pr

|?

n{stwBhce of 10O is connected in11 #

acrds"s the circuit. Find the current
"i1 r

consumed in all the resistors.

I of2
(04 Marks)



OR
a' In a three phase star connection, show ttratV, =.6V60frlffi*

f*

voltage and phase voltage.

6

7

c. A delta connected load consist of a resistancqoof 1o(;
phase. A supply of 410V at 50Hz a applied to-@load
by the load and power factor. &m .'= .,,q,luiu,,',,,. 

(06 Marks)
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a. Derive the EMF equation of a transfofiser. ii '$ (06 Marks)

b. A single phase tuansformer workiufuW.8 power factor has qQ*d*ficiency at 94Yo atboth %b. A single phase tuansformer workigffiW.8 power factor has q.*$S*ficiency at 94Yo atboth3/t

tull load and pull load of 600KW4iW the efficiency at% fl{$$aa unity power factor.
:ws *u.:jld -qdr (08 Marks)#%Ts=tr '!r (ud lYrarus,

c. Primary winding of a transfo@is connected to a 240!, gOHz. The secondary winding has

1500 turns and the maxiffivalue of core flux is O.@OZ ofi. Find secondary induced emf,

ill1?!T;i"T."' 
i".p*mtd"d cross sectional areqoleore. rf max value "ru*ffli,jl_;
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OR,,,,,"..]l,,
!a. Explain platq.Earlhihg. (06 Marks)

b. Witfr eircq-iqiiailu*ka switching table,_eiplain two-way control of lamp.

c. What *ffid 
"aution 

to be taken agaiffit electric shock?
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w vector diagram of line

b. What are the advantages and three phase system

(08 Marks)

a. EMF sen&rated rn

of 400*{W?m extemal circt4it, fdii neta current is 6A and armature resistance is 0.06Q.
(06 Marks)
(08 Marks)

c. What arffidltbcaution to be taken agaiffit electric shock? (06 Marks)
** "'qhl- ,=...:..$#& 1riieq _

\ .;* r t- / -fl*h',s& g.@Uodute4 ;;

a. Draw a neat sketch of DC machrndand name ttre mrffipnd briefly explain the function of
each. u. 6t= d"X := ==S (10 Marks)

' \ R.-a "r).. 
:'..eaon. du "' ;. 't.+ ,P' .J":.* (ru luarKs,

b. A 4-pole, 220V, Lap c@ed DC shunt moffiruffbs 36 slots, e&d$3lot containing 16

conductors, it draws a@Bht of 40A froqtfioffiply. The fieldresT6tance and armature

resistance are 1l0O agd dtO respective[yffi motor develop'b'ari ouQut power of 6KW.
Flux per pole is 40MWb. Calculate : i) sfle$ffiii) torque devel,b?ffiby the armature iii) shaft

torque. #=Tr ffi ,{,,, 
.-* (loMarks)

'+ri w:=jOR ,{,\,..

ild in the armature,,o'ftashunt generatorj'S625V. When delivering its fuIl current

n extemal circp'i fdb neta current !fu;1a and armature resistance is 0.06Q.

9 a. 
- 

Derive the EMF eMtion of an alter&[or. (06 Marks)

wfrudlffiA terminal voltage?:*- ' {i
b. Ske{ph ihe various charqoqEsfic of DC motqikhunt).

"_r@ is the signincq#4$ack EMF in a D.9'mbtor?
". mut is the significgcep4$ack EMF in a D9'mbtor? (06 Marks)

; _ ,,, *""*, -" Module-S

b. 4-pole, lsOOrfuitarconnectt
flux perpoffiQ gru" a terminal

c. A 6 pole. sfficonnected altec. A 6 pole, fficonnected a,penebtor has a 90 slot and 8 conductor per slot, and rotates at

1000rpm. The flux per p"p-l,fu;is 50 mwb. Find the induced emf across its lines. Take the

winding factor of 0.97. " - (07 Marks)
:]..]

*soR
10 a. Mention the adv.qffiges and disadvantages of a squirrel cage and slip ring induction motors.

*o':....11p (07 Marks)
b. Why starter is ffiHired for a three phase induction motor? (07 Marks)

has 9 slot/pole, and 8 conductor per slot. Find the
of 3300V. Take the winding factor as unity. (07 Marks)

c. A6pole"i motor is supplied by a l0 pole altemator. Which is driven at 600rpm. If
ing at 970rpm, find the slip.the

'l.:f{.2Of2{.**

(06 Marks)


